Photos

Others

TOTAL

Tech. Invs (\$

Weekend (\$

wef

Truck / Trailer or

WS / I'P RES / OD RES / EVA / INV / MV

Report Format:

Lump Sum / I.B.I: (\$

Accident Repair Estimate

Surveyer

Accident Date:	05/12/2021	Bus Registration Number:	SMB 3123 U
Accident Time:	16:34	Bus Type:	MAN A22 EU5, SD, AC, 2 Axle
Accident Report Number:	E/5289/2021	Date of Survey:	
3rd Party Claim against:	GBA 6666 K	Date Of Registration:	04/05/2015
	LORRY	-	

Section A

b.	Section A				
		Parts and Mate	rial Cost		
No.	Parts or Item Description	l	Init Price	Quantity	Total Cost
1	LENS-R-PAINTED 501674.REAR FRP CM	\$	38.00	1	\$ 38.00
2	LENS-R-PAINTED 501675.REAR FRP	\$	38.00	1 1 · · ·	\$ 38.00
3	ROUND PLUG SLEEVE;4MM;DIA	\$	0.20	10	\$ 2.00
4	ROUND PLUG;4MM;DIAMETER.	\$	0.20	10	\$ 2.00
5	CATCH LOCK.BRKT B.REAR BUMPER	\$	13.00	2	\$ 26.00
6	LED.TAIL/STOP LAMP.RR.LH/RH	\$	105.00	2	\$ 210.00
7	LED.SIGNAL LAMP.RR.LH/RH	\$	151.00	1	\$ 151.00
8	BUMPER BRKT	\$	15.00	2	\$ 30.00
9	BUMPER.REAR CENTER,REAR FRP	\$	650.00	1	\$ 650.00
10	COVER.REAR LAMP.O/S	\$	340.00	1	\$ 340.00
11	DOOR.COMPLETE.C SERIES.RR ENG	\$	1,300.00	1	\$ 1,300.00
12	BUMPER.STEEL.RR	\$	150.00	1	\$ 150.00
13	SPRAY PAINT- GREEN; SL; SG BUS	\$	36.00	1	\$ 36.00
				and the second	\$ -
					\$ Minimum of the Prince
3 7/4	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1				\$ n=1
Variable 14	A Charles of the Control of the Cont	3			\$ -
	f and a second s			9	\$
					\$ 1
			Contraction of	Total Parts & Material Cost	\$ 2,973.00

Section B

NO.	Assessment/Repair/Spray paint (labour Cost)				
1	CONTRACTOR LABOUR COST	\$	890.00		
2	WORSKSHOP ASSESSMENT LABOUR COST	\$	192.00		
3	LIVERY/ADVERTISEMENT COST	\$	100.00		
4	TOWING COST	NA	ita see a see a fill		
7 "	Total Labour Cost	\$	1,182.00		

Section C

Summary **Total Cost** \$4,155.00

SURVEYOR ACCCEPTANCE

NAME:

DATE: SIGN:

enuil: rasul ækkad av 3 days Res belon Lather part pholos

SBST VERIFICATION

NURIZMAN BIN YUSOFF TECHNICAL OFFICER SELETAR BUS WORKSHOP

Nurizman Yusoff Technical Officer

(DID) 63754264/ (HP) 84256323 | nurizmanby @sbstransit.com.sg **Bus Engineering | Seletar Depot**

3 Yio Chu Kang crescent(\$786010)

SBS Transit

EST - 7 DAY REPAIR WORK

A member of COMFORIDELCRO

13 DEC 2021

KK Auto Consultants herece notify epairer of the following: survey before/after spray painting

To display damaged part(s) during resurvey

Parts prices are subject to confirmation

- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer Signature:

Date:

3Rd Party

Bee Vehicle & Bodywork Maintenance

nson Road #33-17 International Plaza Singapore 079903. 90036715 Fax: 62256130 Email: soonbee_vehicle@yahoo.com.sg

Registration No: 53076555A

our Ref No. :

SB-SE20054

Date:

06-Dec-21

Seletar Workshop.

No. 3 Yio Chu Kang Cresent

Singapore 786010 TO: Mr Nurizman

QUOTATION FOR ACCIDENT REPAIR FOR BUS NO.

SMB3123U

We are pleased to offer our best proposal to provide our services of labour for repair of above mentioned vehicle at SBS Transit, Seletar Workshop.

1)	Vehicle No : Model :	SMB3123U SD	e de la companya de l	7 V		
2)	Total Cost :	- Labour Cost		: \$ GST (7%) : \$ Total : \$		
	Service Description:	Dismantle and replace Dismantle and replace Dismantle and replace Dismantle and replace Repair rear bumper of Repair rear engine con Dismantle and replace Touch up putty on an Respray accident are	ce o/s/r corner of the rear number of the ce o/s/r tail light of the ce o/s/r tail light over lock mechanisms of the ce rear engine of the ce of t	oumper plate light assy cross member anism	23 Ma	anHour
		TERM OF PAYMENT Vehicle Electric and Vehicle Electric and Vehicle Electric and Pathonical Pathonica	wiring system i rts: nsit		VEHICLES	

Note: Quotation valid for 1 Month only

This is a computer-generated document. No signature will be required.

NURIZMAN BIN YUSOFF TECHNICAL OFFICER SELETAR BUS WORKSHOP

09 DEC 2021

408-131 RERPORT-ID : TAC019R USER-ID : edsfof02 ACCIDENT REPORT

DATE : 09/12/2021 16:27:05

Page : 1 of 2

Company SRS District SE IP NUMBER NORLELA A. Duty 10 Report No. YUSOFF E/5289/2021 Accident Date 05/12/2021 Report Date 09/12/2021 Shift Code PM SHIFT Accident Time 16:34 place of Accident YISHUN AVE. 6 ROAD AND YISHUN AVE. 7 ROAD JUNCTION Road Name Road Name YISHUN AVE. 6 ROAD YISHUN AVE. 7 ROAD Junction Final Cause Accident Type Nature Of TRAFFIC MINOR Accident Weather Code CLEAR Road Surface Type Of Operating Hours WORKED 1 HR 30 MINS CONTROLLED X-JUNCTION Location Traffic Volume MODERATE Traffic Flow TWO WAYS Ambulance Traffic Control TRAFFIC LIGHT CONTROLLED Convey Type Of Collision With VEHICLE REAR BEING HIT Collision Serious Minor Injury 0 Fata1 Injury

Police Report

Police Report Number

F/20211206/2047 Photo Taken

Bus Towed

Sketch

Mechanical Fault

CFMS No CFMS Case

Urgent CBR Status

Damage To Bus

SMB3123U - REAR DMG

Facts of Incident I stopped on the left most lane along Yishun Ave. 6 road at the traffic junction with Yishun Ave. 7 road. The traffic light was red. Suddenly I felt a collision from the rear. I discovered a lorry (GBA6666K) had collided onto the rear of my bus. At that point of time there were 4 passengers in my bus, I enquired with them and they told me that they were fine. Afterwhich, I exchanged particulars with the lorry driver and he informed me that he could not stop on time resulted in the accident. The bus 's rear was dented. That 's all .

Brief Particulars NA

Reason for Late Report

STATEMENT READ OVER TO ME

AND I AFFIRM IT TO BE TRUE AND CORRECT

N

THAM MENG KHUAN

Safety Officer Seletar Depot

NAME AND DESIGNATION OF RECORDER

STOUATURE OF STAFF